Year 2 — Worksheet 6A
Maths - Addition

1. The number of sweets in each jar is shown underneath.

How many sweets are there altogether?

SWEETS SWEETS
v v
50 7 20

N

\D sweets altogether. /

@GW your workings here:

2. The number of sweets in each jar is shown underneath.

How many sweets are there altogether?

SweeTs SweeTs
| |y
5 30 60

~

@ow your workings here:

\:] sweets altogether. )

3. The number of sweets in each jar is shown underneath.

How many sweets are there altogether?

@

SWEETS

7 =
90 4

N

k[:] sweets altogetherj

éhow your workings here:

4. The number of sweets in each jar is shown underneath.

How many sweets are there altogether?

SwreTs SwiETs
v |
40 10 1

@Gw your workings here:

N

k[:] sweets altogetherj




Year 2 Worksheet 6B
Maths

1. The number of marbles in each jar is shown underneath.
How many marbles are there altogether?

9 8 10 \[:] marbles altogether. /

2. The number of marbles in each jar is shown underneath.

How many marbles are there altogether?
@ow your workings here: \

20 60 7 \D marbles altogether. /

3. The number of marbles in each jar is shown underneath.
How many marbles are there altogether?
@wow your workings here: N\

40 40 5 \[: marbles altugether./

4. The number of marbles in each jar is shown underneath.
How many marbles are there altogether?
@ow your workings here: )

ﬂ Marbles Marbles
A =
I .
\\ marbles altogether .

Can you make up some of your own addition questions?

G\ow your workings here: \




